American Data Group 

Fixed Assets

Depreciation Calculation

The Fixed Assets Application only supports the ‘Straight Line’ method of depreciation.  A change in the calculation method was made. Instead of the depreciation value based on the total value and useful life, it is now based on the un-depreciated balance and useful life remaining. 

The New Method uses the straight-line method not based on the depreciation base and useful life in each schedule, but the Un-depreciated base and remaining months to depreciate.  The change was made to facilitate changing an asset's costs basis and its useful life. 


1) Determine if the number of months depreciated is greater than the useful life.  If so, skip the asset from depreciation.  The number of months is based on the last depreciation date (or depreciation start date). If the depreciation start date is being used, then determine the start date being the 1st day of the month if the start date is less than or equal to 15. If not, then 1st of the next month is used. Based on the current depreciation date entered (which must be the last day of the month), count the number of month to depreciate.  Verify the # of months is not greater than the depreciation start date plus useful life. 

2) Determine the number of months remaining (Start-Date + Useful Life) – (Last Depreciation Date). 

3) Determine the Remaining Value to Depreciate, (Base – Salvage – LTD Depreciation).

4) Divide the Remaining Value (#4) by Months Remaining(#3) 

5) Multiply the Monthly Value (#5) by the Number of Months to depreciated (current date – last depreciation date).  Verify the amount is not more the Un-depreciated value(#3).  THIS IS THE NEW CURRENT DEPRECIATION.

Examples:

$240,000 Asset with no salvage value and a useful life of 60 months.  Depreciation Start Date of 1/10/2002.  The ending depreciation date would be 12/31/2007 because the start day is not greater than 15. If so, the ending date would be 1/31/2008.  Current Depreciation Date of 12/31/2002.

1st Year

$240,000 Un-depreciated Balance

12/31/2007 – 01/01/2002  = 60 Months Remaining

12/31/2002 – 01/01/2002 = 12 months to depreciate

($240,000 / 60) *  12 = $48,000.

2nd Year

$240,000 - $48000 = $192,000 Un-Depreciated Balance

12/31/2007 – 12/31/2002 = 48 Months Remaining

12/31/2003 – 12/31/2002 = 12 months to depreciate

($192,000 / 48) * 12 = $48,000.

All things equal, both methods will yield the same value.  The new method will work more correctly when the asset value is changed along with the estimated life.

We’ll add $48,000 in value and add 12 months of life.

New Method – 3rd Year

$240,000 + 48,000 – 96,000 =  $192,000 un-depreciated balance.

12/31/2008 – 12/31/2002 = 48 Months Remaining

12/31/2004 – 12/31/2003 = 12 months to depreciate

($192,000 / 48) * 12 = $48,000.

At this rate, the asset will be fully depreciated in remaining 48 months.

When switching to the new method, your yearly/monthly depreciation should be about the same value as the prior year, with minor rounding variations.  The two values will only be different if the LTD depreciation is not correct for the period of time already depreciated.  This may be true based on converted data supplied. The New Method will then in essence prorate to previous inaccurate value with the remaining time. 

